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ALL KERALA BHAVAN’S
SCHOLARSHIP EXAMINATION 2019-20

STD. IV Duration : 2 hrs
Max. Marks: 100

GENERAL INSTRUCTIONS

Read the instructions carefully before answerin

1. Please fill up your Roll No. and class in the box provided on the answer

sheet.

2. This question booklet contains 50 questions and 5 Tie Breaker
questions. All questions including Tie Breaker Questions are mandatory.

Tie Breaker questions would be evaluated only in case of a Tie.

3. Each question carries 2 marks.

4. Each question has 4 answer choices a,b,c,d.

For each question, select the best/correct option and darken the bubble
completely against the corresponding question in the answer sheet

provided.
6. Use blue/black ball point pen to darken the bubble.

7. Darken only one bubble agéinst each question.

8. There will be no negative marking.
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Marks:
Time:

STD IV

t
Choose the Correct answer from the OP

1.

10.

11.

12.

13.

14.

jons given:

Fill up using appropriate preposition. o the gate
We walked this end of the park,

a)at b)to c)from d) for

’
Choose the synonym of the word ‘esteem.

MmN 13-20)004

100 Marks
2 hours

.qs est
a) expensive b) respect c) familiar d) hon er gave me a new bat for

. .My moth
Identify the ‘Adjective’in the given sentence. My
my birthday.

a) gave b) new c) mother d) birthday
Choose the correctly spelt word.

. d) Envairenment
a) Environment b) Envirenment c) Envaironment d)

. : d- ‘cheap’
Find the word opposite in meaning of the given wor cheap

a) attractive b) good c)best d) expensive

i in bracket.
Fillin the blanks with the correct form of the verb given in

The sweets on the table (be)

a)is b) have c)are d) was

Fillin the blank with suitable collective noun
A of bees.

a) swarm b) flock c) cluster d) pack

243 is divisible by

a5 b2 c¢)3 d)4

215+ ___ =1, thenthe divisor is,

ajl b0 ¢ 215 d) 10

What fraction of a metre is 50 cm

1 1 1 1
a5 b o; d;

The predecessorof 41000 is
a) 41999 h) 40999 c) 40009 d) 40099
The number of hours in 4380 minutesis

a) 72 hours b) 78 hours ¢) 73 hours d) 66 hours
378 rounded to the nearest 10 ig

a) 400 b) 370 c) 380 d) 350
The place value of 8 in 7813056 g
a) 800000 ) 8000000 ¢ 80000000 d).8000
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15.

16.

17.

18.

19.

20.

21.

22.

23.

24.

25.

26.

27.

28.

29.

30.
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The sum
of th A
Number jg © largest 3 digit even number and the smallest 4 digit odd

a) 1
“)rh 099 ) b) 1998 ¢) 1999 g) 1100
at js= i
tis 3 °f aday in hours?
:le b) 24 ¢) 20 d) 18
€ hardest Substance in the human body
a) Hair b) Nail ) Bone d) Enamel
The National tree of India
a) C
) Coconut tree b) Mango tree c) Banyan tree d) Palm tree
Ground nut is a rich source of
a
) Carbohydrates b) Fats c) Protein d) Vitamins
Spine is a modified_____inacactus

a) Fruit b) Leaf c) Stem d) Root
A tooth decay resultsin bad bre ath, cavities and tooth ache. It is due to the

growth of
a) Virus b) Fungi c)Protozoa d) Bacteria

Which of the followingis not an amphibian
a) Frog b) Toad c) Salamander d) Snake
The type of soil that is best suited for plant growth is
a) Sandy soil b) Clayeysoil c) Loamysoil d) Rocky soil

Which of the following diseases are caused by virus?
a) Measles & Cholera b) Measles &Polio c¢) Measles & Malaria

d) Measles & Typhoid
Nutrients that are broken down in the mouth are
a) Vitamins b) Carbohydrates c)Proteins d) Fats

Who is the founder of the Indian National Army?
b) Subhash Chandra Bose

a) Mohandas Karamchand Gandhi
d) Sardar Patel

c) Rabindranath Tagore

The most populous state of India is
a) Kerala b) Madhya Pradesh c) Uttar Pradesh d)Punjab

Who was the leader of Chipko Movement?

a) Medha Patkar b) Subramanian c) Milkhasingh d) Sunderlal Bahuguna

Outer most layer of the earthis
a) Crust D) Mantle c) Inner core d) Outer core
In which continent is India located?

a) Europe D) Africa c)Asia d) Australia
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The state known as pParadisc on
c) Assam all sides

31.

a) Kerala b) Tamil Nadu reron
32. The piece of land surrounded by wa P plateat

a) Island b) Himalaya c) Plains | pam ]ocatc.d?
33 On which river is the Bhakra Nanga d) sutle]

a) Indus b) Beas c) Ravi ing

are held dur’! istmas

34. In Keralasnake boat races¢ . d) Chrl

a) Gudipadwa  b) Baisakhi ¢) 07
35. A plant thatis a total parasite iS___/—;l-“t‘(;

istle
a) croton b) cactus c)dodder d) mis
. . 1 __'__',——-/ .

36 The highest plateau in the world is Ethiopian nghland

a) Deccan Plateau b) Colorado Plateat! c)

d) Tibetan Plateau
37. Whichis not a renewable resource? vor

ing wate
a) Wind b) Coal c) Solar power d) Moving 1 ouse effect
. nho
38 He was the first scientist to discover the Gree > 1 John Dalton
Svante Arrhenius )

a) Abhay K. b) Joseph Fourier c)

39. Itis the largest Mangrove forestin the world. 1
a
a) Pichavaram, Tamil Nadu b) Sundarbans, West Beng

c) Bhitarkanika, Odisha d) Baratang Island, Andaman

40 Complete the pattern

Nand
Bl
[ [
EIEIEE]

(Y} 8 €
If finger is called toe, toe is foot, foot is called thumb, thumb is called ankle,
ankle is called palm and palm is called knee, which one finger has a different

|

41
name?
a) Thumb b) Ankle c) Knee d) Palm
42  AB, DEF, HIJK, ?, STUVWX
a) MNOPQ b) LMNOP c¢) LMNO d) QRSTU
43 Fruit: Banana :: Mammal:?

c) Fish d) Sparrow

a) Cow b) Snake
coded as LBB1HOD, which word would

If in a certainlanguage, MACHINE is

44
be coded as SLTMFNB?
a) TMUNGOC b) TMUNGMC c) TKULGMC d) RMSNEOA.

4
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45

46

47

48

49

S0

d) Wipe your nose on your dress.

Yo i
i ;1 :{e ro:?c tlf:lrimng home from school. On the way, you find a sealed envelope
reet, fully addressed with unused stamps on it. You would :

a) Leave it there as it was and walk away.

b) Remove the stamps and destroy the envelope.

c) Open the envelope, find out who has dropped it by mistake, and send it to
him if possible.

d)post it at the nearestletter box.

You are playing football in a park. When you kick the ball, it strikes and

breaks the window pane of a nearby house. You would:

a) Demand your ball back from the house owner.
b) Say that it was no fault of yours.

c) Stealthily getyour ball back.
d) Apologise to the house owner and contribute toreplace the glass.
You are drivingyour car on the road and you hit against a fruit vendor's cart

o he site by driving away

from the site ‘ .
?). ilsai?zethe fruit vendor for putting his carton _the way.
c. Pay the fruit vendor for the damage done to him.

d Insist thatit was not your fault.

Tie breaker

1.

7456 is divisible by
a)2,3,4,8 b 1,2,4,8 ¢ 1,3,4,8 d) 2,6,4.,8
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ur d) Ronald Ross

2. Who discovered Penicillin? ) Louis paste
a) Alexander Fleming b) Edward Jenner € ' . )
3. Who was known as the frontier Gandhi? bdul Ghaffar khan c) Jinna )

. han A
a) Jawaharlal Nehru b) Ali brothers ¢) K
The currentchairman of ISROis_____

a) K.Sivan b) R. Sivan ¢) P. Sivan d) B. Sivan A but Bis
A and B are young ones of C. If C is the father of

of C. How are B and C related?

a) Niece and Uncle

b) Daughter and Father

¢) Nephew and Uncle
d) Daughter and Mother f

Rough Work

not the son
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